You work for The Villages of Michigan, an assisted living center business, at their Detroit location.
Because Baby Boomers born between 1946 and 1964 are approaching your target age group for resi-
dency, you downloaded free data from the U.S. Census Bureau to analyze population trends. You need
to conduct some prefiminary assessment along with age profiling, Additionally, you also want to deter-
mine what states presently have higher populations of retired people, age 60 and older. You will create
subtotals, PivotTables, and PivotCharts to answer these questions, .
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b. Use the Data Subtotals worksheet to create population subtotals for males and females by state.
Collapse the outline to show only subtotals. Widen the Male and Female columns as needed.

c. Use the Data worksheet to create a PivotTable in a new worksheet named Age Profile PivotTable,
and then do the following:

* Namie the PivotTable M-F by Age Group.

® Display age groups to identify each row, and then display male and female population totals

per age group.
* Format the values with Number style showing the comma separator with no decimal places.

DISCOVER @ .

ase CHAPTER 5 « Subtotals, PivotTables, and PivotCharts
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DISCOVER @ e. Create a PivotChart, move it to a new sheet named Age Group PivotChart, change the chart to a
bar chart, remove the legend, and then add an appropriate chart title. Sost the related PivotTable so

a axl 5

f Use the Data worksheet to create another PivotTable in a new worksheet named Age by State, and

then do the following:
& Name the PivotTable Age by State.
* Display states to identify each row, age groups to identify columns, and total population
values, Enteradescriptive heading to-replace the Row Labels heading.
e Format the values with Number style showing the comma separator with no decimal places.

djustvalue colt Wit o 8435 wrap ang-the aht-al



uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线


CAPSTONE EXERCISE

You are on the budget committee for the formal Valentine’s
Day Ball at your university. The ball includes dinner and danc-
ing. Your committee prepared a tentative budget outlining
income and expenses. The primary sources of income are
contributions from student organizations and ticket prices.
Expenses include the actual cost of the dinner, facilities,
parking, and other costs at a luxurious hotel in the city. Your
goal is to balance the income and expenses, decide on the
most appropriate ticket price per student, and ensure your
budget falls within the limitations you must work with.

Goal Seek

Currently, the estimated budget has a deficit. The fastest way to try to
reconcile the income and expenses is to use Goal Seek. The goal is to

break even, that is, to have a zero balance. Your instinct is to adjust

the ticket price per person to reach the goal.

a. Open ef6cldance and save it as e06cldance
LastnameFirstname.

b. Use Goal Seek to achieve a $0 balance by changing the
ticket price per person. '

¢.  Enter the value of the ticket price per person variable
in the Q&A worksheet.

One-Variable Data Table

You believe that between 200 and 500 students will attend. Because
the ticket revenue, chair setup, catering cost, and valet parking
expenses are dependent on the number of students, you decide to
create a one-variable data table to compare the budget effects based
on different numbers of students attending.

a. Start in cell E3. Complete the series of substitution
values ranging from 200 to 500 at increments of
20 students vertically down column E.

b. Enter references to the total revenue, total expenses, and
balance formulas in the correct location for a one-
variable data table.

c Complete the one-variable data table, and then format
the results with Accounting Number Format with two
decimal places.

d. Applyecostemnumber formatstomale the formula
i i i -
E : f] i L : i bttt Lises. &
e. Answer questions 2 through 4 on the Q&A worksheet.
Save the workbook.

Two-Variable Data Table

The break-even point for the one-variable data table is identical to
the current model because all other variables are held constant. You
want to compare the balances of different combinations of attendees
and ticket prices per person using a two-variable data table.

CHAPTER 6 = What-If Analysis

a. Copy the number of attendees substitution values from
the one-variable data table, and then paste the values
starting in cell E22.

b. Type $50 in cell F21. Complete the series of substitution
values from $50 to $100 at $10 increments.

c. Enter the reference to the balance formula in the correct
location for a two-variable data table,

d. Complete the two-variable data table, and then format
the results with Accounting Number Format with two
decimal places.

o e deficit

he head: | substituti lses.
g. Answer questions 5 and 6 an the Q&A worksheet.

Question-brequiresthree-combinations-totist-Save the
worlboolk:

Scenario Manager

You negotiated different cost per meal and ballroom rental rates
based on 500, 400, 300, or 200 attendees. You estimated tentative
ticket prices per attendee. To help you decide the target number of
attendees, you need to use Scenario Manager.

a. Create a scenario named 500 Attend, using the number
of attendees, meal cost per person, ticket price per person,
and ballroom rental variables as the changing cells. Enter
these values for the scenario: 500, 15.95, 75, and 12500.

b. Create a second scenario named 400 Attend, using the
same changing cells. Enter these values for the scenario:
400, 17.95, 85, and 12500.

¢. Create a third scenario named 300 Attend, using the
same changing cells. Enter these values for the scenario:
300, 19.95, 90, and 11995.

d. Create a fourth scenario named 200 Attend, using the
same changing cells. Enter these values for the scenario:
200,22.95,95, and 11995,

e. {(Generate a scenario summary report using the total
revenue, total expenses, and balance as the results.

f. Clean up the summary as discussed in the chapter.
2. Answer questions 7 through 9 on the Q&A worksheet.

Save the workbook.

Use Solver

You realize a perfect break-even point may be unrealistic, but you
will donate any positive balance to charity. For this analysis, you will



uqwxu4
在文本上注释
Open Budget worksheet

uqwxu4
删划线

uqwxu4
在文本上注释
after enter value in QA worksheet, you need to change CellB9 to the value you calculate. 



uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线

uqwxu4
删划线


XY AW A\ g -~

i Wy

use Solver to keep the expenses constant while changing the number
of attendees and ticket price per person.

=y

5w

Load the Solver add-in if it is not already loaded.
Set the objective to calculate the highest balance possible.

Use the number of attendees and the ticket price per
person as changing variable cells.

Look at the Limitations section of the spreadsheet model.
Set a constraint for the number of attendees.

Set constraints for the ticket price per person.

Set an appropriate integer constraint.

Set a constraint that ensures the valet parking expense
is less than or equal to the product of the number of
parking stalls and the valet price per vehicle.

Solve the problem, but keep the original values in the
Budget worksheet. Generate the Answer Report. If you
get an internal memory error message, remove Solver as
an add-in, close the workbook, open the workbook, add
Solver in again, and finish using Solver.

Answer questions 10 through 13 on the Q&A worksheet.
the-workbook:

Save and close the workbook, and submit based on your
instructor’s directions.

Capstone Exercise » Excet 2010



uqwxu4
删划线

uqwxu4
删划线

uqwxu4
Comment on Text
This means you need to add a constraint: B26<=B7*B13.




